NIiRA Grippers (Angular and Parallel)

PNEUMATICS

ANGULAR GRIPPER

CLOSE PORT

FINGER MOUNTING

HOLES OPEN PORT

CLOSE PORT

FINGER MOUNTING
HOLES

OPEN PORT
PARALLEL GRIPPER
BOTTOM MOUNT
CLOSE PORT
FINGER MOUNTING
HOLES OPEN PORT

If you have any questions concerning the installation or operation of this equipment, or if you need additional information, please call AutomationDirect.com Tech Support at 770-844-4200



Grippers (Angular)

Angular Gripper Installation Notes

- The gripper force can be reduced and working pieces may fall when the
supplied pressure is low or there are abrupt changes.

- Dropping the gripper prior to installation may cause damage and
prevent usage.

- It is not recommended to expose the grippers to unnecessary external
or impact force.

Side Installation

Max. Screw

- Avoid twisting of the gripping jaw or gripping jaw parts.

- Ensure that fastening bolts are properly torqued per the tables below.

Rear Installation Type

Pilot bore available for

mounting and positioning

Bore Bolt MaﬁrSZzew Max. Screw| Diameter of ;l?ﬁ#tga%
Size Type (Nm [7,]_ inj) Depth (mm)| Pilot (mm) (mm) |
6 - - - 7H9 15
10 M3x05 088 [7.79] 6 11H9 15
16 M4 x 0.7 21[1859] 8 17H9 15
20 M5x0.8 4.3(38.06] 10 21H9 15
25 M6x1.0 7.3[64.61] 12 26H9 15
32 M6x1.0 7.3[64.61] 12 34H9 15
Front Threaded Hole Installation
Bore |  Bolt Maﬁrglc’;ew Max. Screw,
Size | Type (Nm [Ib-in]) Depth (mm)
6 M3 x 0.5 0.69[6.11] 5
10 | M3x05 0.69[6.11] 5
16 | M4x07 21[1859] 7
20 | M5x08 4.338.06] 8
25 | MBx10 7.3[64.61] 10
32 | MBx10 7.3[64.61] 10
Front Through Hole Installation
Max. Screw
g?zrg Bolt Type Torque llﬁ"fihs(%%
(Nm [lb-in])
6 | M25x045 0.49 [4.34] 5
10 | M25x045 0.49 [4.34] 5
16 M3x0.5 0.88[7.79] 7
20 M4 x 0.7 2.1[18.59] 8
25 M5 x 0.8 4.3(38.06] 10
32 M5 x 0.8 4.3(38.06] 10

o | See | Twe | T Do mm)
L . 0 10 | M3x05 088(7.79) 6
1 _ | 6 | waxor]  1sm4t6 65
S 0 | wsxos|  3312021) 8
25 | Mex10| 5905222 10
2 | Mex10| 5905222 10

Gripping Jaw Extension Installation

- To install custom designed extensions, first hold the extension by using a
wrench then lock the screws into place with an allen wrench. Clamping
the body directly and torquing the screws without support will cause
damage to the gripper. See illustration and chart for proper mounting.

g‘i';g Bolt Type Maﬁrgﬁffw
(Nm [Ib-in])
6 M2x 0.4 0.151.33]
10 | M25x045]  031[274]
16 M3 x 05 059(5.22]
2 M4 x 0.7 1412.39)
25 M5x 0.8 28(24.78)
Extension 2 M6 x 1.0 49[43.37)

- For proper gripping, the work-piece must be located in the center line
of the gripping jaws. Also note, the gripping jaws should close on the
work-piece at the same time to prevent damage.

- Install so that there are no external forces on the gripper. Transverse
loads on the gripper can cause impact loads and can lead to shaking and
damage to the gripper jaws. Installation should include clearance so that
the gripper will not impact other work pieces or accessories during its
extension.

- A flow control valve should be used to adjust the gripper action if the
operation is too fast.

- No personnel or other materials should be present in the gripping path,
to prevent injury or damage.

- Confirm that the gripper is locked out of a working state and discharged
of compressed air prior to removal.

If you have any questions concerning the installation or operation of this equipment, or if you need additional information, please call AutomationDirect.com Tech Support at 770-844-4200



Grippers (Parallel)

Parallel Gripper Installation Notes

- The gripper force can be reduced and working pieces may fall when
the supplied pressure is low or there are abrupt changes. Take care to
consider this during machine design.

- Dropping the gripper prior to installation may cause damage and
prevent usage.

- It is not recommended to expose the grippers to unnecessary external
or impact force.

- Avoid twisting of the gripping jaw or gripping jaw parts.
- Ensure that fastening bolts are properly torqued per the tables below.

Rear Installation Type

Pilot bore available for
mounting and positioning

Max. Screw Diameter of | Depth of
g‘;;g 7‘?;/% Torque [Ig’:ﬁhs(%% Pilot Bore PiIoI; Bore
(Nm [lb-in]) (mm) (mm)
10 M3x 05 0.88(7.79] 6 7114005 15
16 M4x0.7 21[1859] 8 g17+0.05 15
20 M5 x 0.8 43138.06] 10 3214005 2
25 M6 x 1.0 7.316461] 12 926+0.05 2
32 M6 x 1.0 7.9169.92] 12 7344005 25
40 M8x125|  17.7[156.66] 16 7424005 25
Front Threaded Hole Installation
Bore |  Bolt Maﬁrgzgew Max. Screw
Size | Type (Nm [Ib-in]) Depth (mm)
6 M3x 0.5 0.69[6.11] 10
10 | M3x05 0.69[6.11] 5
16 | M4x07 21[1859] 7
20 | M5x08 43138.06]
2% | M6x10 7.3[6461] 10
32 | M6x10 7.9169.92] 12
40 | M8x125|  17.7[156.66] 12
Front Through Hole Installation
Max. Screw
g‘,?z’g Bolt Type| ~ Torque l%:t'hs(%fnu)/
(Nm [lb-in])
6 | M25x045 049 [4.34] -
10 | M25x045 0491[4.34] 5
16 M3x 05 088(7.79] 8
20 M4x0.7 21[1859] 10
25 M5 x 0.8 4.3[38.06] 12
32 M5 x 0.8 4.3(38.06] 13
40 M6 x 1.0 7.3[6461] 16
Side Installation
Bore | Bolt Maﬁrglc’;ew Max. Screw
Size | Type (Nm [lb-Nm]) Depth (mm)
10 M3x 05 09(7.97] 6
- 16 M4 x 0.7 16[14.16] 45
9 © 20 M5 x 0.8 331[29.21] 8
25 M6 x 1.0 59152.22] 10
32 M6 x 1.0 59152.22] 10
40 | M8x125|  13.7[121.26) 12

Gripping Jaw Extension Installation

- To install custom designed extensions, first hold the extension by using a
wrench then lock the screws into place with an allen wrench. Clamping
the body directly and torquing the screws without support will cause
damage to the gripper. See illustration and chart for proper mounting,.

gt;zrg Bolt Type ﬂgf%ﬂgl
6 M2 x 0.4 0.15
10 M2.5 x 0.45 0.31
16 M3 x 0.5 0.59
20 M4 x 0.7 14
25 M5x 0.8 28
Extension 32 M6 x 1.0 49
40 M8 x 1.25 1.8

- Install so that there are no external forces on the gripper. Transverse
loads on the gripper can cause impact loads and can lead to shaking and
damage to the gripper jaws. Installation should include clearance so that
the gripper will not impact other work pieces or accessories during its
extension.

- Gripper open state, end of stroke:

MWH Gap mfﬁ%
m— = AT — JM

che T Gap

Correct install with gaps

Incorrect install with no Gaps

- Gripper closed state, end of stroke:

Correct install with gaps

- When used in the reverse motion
state, gripping point must be precise to
ensure the gripper does not impact with
surrounding objects.

- The center line should be coaxial when
work-pieces are inserted with no offset
to ensure there are no external forces
on the gripper. During testing the pres-
sure should be reduced to the gripper to
guarantee safety and that there are no
impacts.

T

Impact Load

Center offset

Center coaxial

- A flow control valve should be used to adjust the gripper action if the
operation is too fast.

- No personnel or other materials should be present in the gripping path,
to prevent injury or damage.

- Confirm that the gripper is locked out of a working state and discharged
of compressed air prior to removal.

If you have any questions concerning the installation or operation of this equipment, or if you need additional information, please call AutomationDirect.com Tech Support at 770-844-4200



